R0 1084 Ak MAR AR S %4 1088 2

i%ﬂﬁ~2&~%ﬁkﬁﬂ?%$$%

L2

A IR

A CH) :f“éwi

# Poripmieg (sfgtafd )

"?’éiiﬂ?F"’i | P R B
AR <—>ﬂuxw¢4mwo

23 SRR TR EREATATAS § R RRTARBRE L AL (03
DA A M bR B T NReE g

%

— ~ e arh 25CR R s Har +Clyr)> 2HCI G 5hF 5% 3 AH <5 = —184.62
kl/imol» &4 Fene BRE B4 %~ % 2 C,(Hy) =28.6J (mol - K) -~
C, (Cly) =32.2J/ (mol - K)~C, (HCI) —28.5J/ (mol « K)» - H &g
B I5CRaE 2% (25 %)

SR HP ARPMFTRET GEMR AW B A6 5 2 m 2
10°N/m* > B %R % 4m’
OF PV=K (K5 = L) 37 B s frorieans - (10 ~)
OF gz &= P=aV’ (a 5 - %) #3383 Forivens < (154 )

R SR E 1MmT}wmi%p3R15K’$ﬁ$men$ WA A v
% 3.0137x10% m®mol 4= 1.8798x10®° m’mol » ¥ BT it # % 9.7126
kcal/mol > Fbe oz § BETE B B 1L Ffod gBhea R 4 chfd % - (25 4 )

i

s t$Wmﬁ %ﬁﬁg,égw%@?ﬁgﬁ\gg‘g@\g%
ﬁﬁz’@ﬁz”’ A3 Ty fFHgtE (25 4)



